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X = 1100830° + sin30° 20
y* = £Csin30° + c0s30°

£1= X c0s30° £ y*sin30° A
= +x* §in30° + y* c0s30°

26

311 (0

Xt =Ascos(cost + <+ Al cos(coLt +0)

y* = Bssin(cost + ())+ B Lsin(coLt + 0) % (]
ASAL
Al= t )Xy’ (0))i
A= (®4f%L) 2(x-(0))! +(a (gsx ©L))(y°(0))
ax=-M1+VI-3r(I- ) "2 29 (1)

0<fL<0.41421356 <fs<0.5
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sing= '[Asa*(cogc-OOU%iy'(o)

11 - 1 N

. 30 ()

sin0=[, L§n>coé.ci202)]y*(o)
= 2n'(pledisy‘ (0

w0 =

3.1.2 1)
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f1= —23 [(As cos(cost + <)+ A I cos(colt +O)] + i—[(Bs sin(<j)st + 4)+ BLsin(0)Lt + $)]

31
= +-"[(As cos(cost + §+ A1 cos(coLt + )] +*-[(B s sin(cost + ) + BLsin(coLt + O)]

31 (05- | 0.866)
(05- 1-0.866)
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£

£=a.er+he~t+c sinnt+d, cosnt
= a%Mh+b2e~rt + c2sinnt +d2cosnt 22

32 Gm
e*

£1= a,(1 4+ nt) + bI(1-nt) +¢, sinnt + d, cosnt A
=a2(l+nt)+ 2( -nt)+c2sinnt +d2cosnt

33 34

£1= D3+ D2sinnt + D, cosnt
- D4-7D - 2D, sinnt + 2D, cosnt 340

i1= 4,8M e +c, SINCOZ . (C-2a,)c05C02
=(“ a ~ci)elit+(-“ai-c,)e"rt-2(C-2a,)sinco2 + 2c, cosco
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